B1H =ARY, HREER
(1]

Y
T .
1 cos%=—%l THY, 0=x<2zr OHHET cosx=% % & (%)
2
7z 9 x OME ﬁ
-1 1
oz 51 - 0
TH5. — <§”>
2) sin2x=sinxcosx THH05, x DIFER = — 2EHOAR
V2 sin2x—2asinx—y/6 cosx++/3a=0 e (%) ‘7 sin20=2sinfcosf.
=8

Zﬁsinxcosx—2asinx-—/€cosx+ﬁa=O
2sinx(v/2 cosx—a) —v/3 (/2 cosx—a) =0

(sinx—/'_?,_])(/m cosx—a> =0

EEETEDLDT

Sinng D
EJAdES

Cosx=% S ¢) .
5. (%ﬁ ] (g)

0=x<27 2B OED>E, O Z2-TH0IE

. [ ole_
|3| 3' 1 (6] 1
Ths.

0=x<27 IZBNWT () PERZZ 3EOEKBEE L DDIX -1
(i) @%ZWITHPIERTHY, TAFQDVTNELER
%
(i) @=WMTHEIF2[HY, 203D 1HZFFIQ DONT
nrE—895
DZDODGENEZONS,
(i) izDonT,
@ 2B 1EZTTHEH S ¢ cosx:%,

>



j%:1 Fhid -1
Jhbb

a=y/2 % —J/2
ThH5.
ca=4/2 D=

@ cosx=1 &7, IhzmiLITMII x=0. ZThiZ

QDNTNELREDZDT a=42 38T 3.
(Z@t%ﬂﬂ@@upﬁﬂ,%,%nﬁﬁéﬂ
ca=—4J2 D&

@ cosx=—1 &0, INEWLITHRIE x=7n. TNIT

QDNTNELRELIDT a= —y/2 3ET .

mo2 TH5.)

(Corx, (x) ORI, X=3, 3T 7
(i) I\ T,

-@%ﬁt?%@é%@l@ﬁ%@&%

T __a sy, 1 _a
coss—ﬁ“(%éﬁfa,z ﬁJ:D

@3@?%@,azig—@ﬁ?é.
~®%ﬁt¢%@5%@1@ﬁ%n@ag

coslﬂ:—a— ThHharPH, —

3777

T
£=3 37

Do

DIBTHY, a= -~ 3HET 5.

2

-1

1
e
N

N\
/

X=1

0=<x<27 IZBWNWT cosx=X %
TP IEER50E, X=1 £721&
—1DEETHY,
X=1 DL &EREIE x=0.
X=—-1 DLEMRT x=m.

—
w|y
N

|
o)~




BlbE&D, KHB a DEIE

N

Il

I+
E

I+
HH

Ths.

(2]
flx)=—2"+(/2)" " +4.
t=(/2)" &¥B&
={(2)Y ={(2))=7,

WD) = (2 (/2) =/t | -

THHDPS, flx)dtxHANT

Flo) = — e 4 /[ 2 Je+d

gB)=—2+J/2t+4

LRSND.

EB<.

(1) t=(2)" 1BV, x PERLBEHLE, tDEDES

EoEEE t>[ 0 | ThEN, [ PERLGBEBLED | ¢

F(x) OBKAE] & [6>0 0BT 5 g(2) DBAME] 1% Lo,
Q>2+_9_

o= -(t-4L) +4

cHBMSE, olt) (t>0) I, x:@ peagiiEd e,

s, t=12 (/D orE, (T =GD £0

x=—1Th5s.

&oT, x=[ 1] BVT fx) EBAME

LD,

2 (V2)°=17Thbv, t=(/2)" FEMEKTHL>5
x<0 oex, 0<t<[ 1 |

x>0 D&EE, 1<t

TH5.
Lieh =T, [fx)=Fk 2W73 x»2lHD, ThoNERF

STHH] i [g(t)=Fk 23t (>0) P20, 2D
b, =N 0<t<l, 5D 1<t IZhbb] &TH5.

Eicp bl
(ap)q: an: (dq)p,
aP+q — aP . aq.

(@ \ZIEDEE, p, q FFELR

t=(/2)*
1
_/ x
(0]
ﬁ 1 -1
LE - 2 —(/2)7
2 =77 +/2)
t
t=(/2)
_—/1(
X
(0]
x<0 DEZF|0<x DEZ
0<t<l1 1<t




/ y=g(t)
." t
; O 42142
2
& V=R ODT5TN y=9(t) DT
DRI LD HHETH 5.

g(B) =k W TEH L, BPHE v=9(t) ® t>0 O

CHEM y=k OIEED tEETHS. g(0)=4, g(1)=3+4/2
ICEETSE, RKOHEDEOHFIX, 75 7XD
4 J<r<[3]+/[ 2]

THAb.




